MIAMI-DADE
COUNTY

MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786)315-2590 F(786)315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/building
Amarr Garage Doors dba Entrematic

165 Carriage Court

Winston Salem, NC 27105

SCOPE: ThisNOA is beingissued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has beenreviewed and accepted by Miami-Dade County RER -Product
Control Sectionto be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction
AHJ).
g1"his 1210A shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section
(In MiamiDade County)and/orthe AHJ (in areas other than Miami Dade County) reserve theright to havethis product
or material tested for quality assurance purposes. [fthis product or material fails to perform in the accepted manner, the
manufacturer will incurthe expense of such testingand the AHJ may immediately revoke, modify, or suspend theuse
of such productormaterial within their jurisdiction. RER reserves theright to revokethis acceptance, if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.
This product is approved as described herein and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Model 1000 Amarr 2432 Insulated Steel Sectional Garage Doors up to 9'-2" Wide
with Impact Resistant Windows — L.M.1.

APPROVAL DOCUMENT: Drawing No. IBC-1009-195-15-I, titled “Model 1000 Amarr 2432”, sheets 1
through 4 of 4, dated 12/05/16, prepared by manufacturer, signed and sealed by Thomas L. Shelmerdine,
P.E., bearing the Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance
number and expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer’s name or logo, manufacturing
address, model number, the positive and negative design pressure rating, indicate impact rated if applicable,
installation instruction drawing reference number, approval number (NOA), the applicable test standards,
and the statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s
side track, bottom angle, or inner surface of a panel.

RENEWAL ofthis NOA shallbe considered aftera renewal application has been filed and there has beenno change
in the applicable building codenegatively affecting the performance ofthis product.

TERMINATION of this NOA will occuraftertheexpiration date or if there has beena revision or change in the
materials, use, and/or manufacture ofthe product or process. Misuse of this NOA as an endorsement of any product,

forsales,advertisingorany other purposes shall automatically terminatethis NOA. Failure to comply with any section
of'this NOA shallbe causefortermination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion ofthe NOA is displayed, then it shallbe done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to theuser by themanufacturer or its distributors and
shallbe available forinspectionatthe job site atthe request of the Building Official.

This NOA renews NOA No. 20-1015.25 and consists of this page 1 and evidence page E-1, E-2 and E-3, as
well as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

ﬁ NOA No.22-0914.06

MIAMI-DADE COUNTY C

[ APPROVED | Expiration Date: November 09,2027

— Approval Date: October 13,2022
10/5/22 Page1l


http://www.miamidade.gov/building

Amarr Garage Doors dba Entrematic

[y

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS NOA'’s

DRAWINGS

1. Manufacturer's die drawings and sections.

(Submitted under NOA No. 17-0321.04)

2. Drawing No. IBC-1009-195-15-1, titled “Model 1000 Amarr 2432”, sheets 1 through
4 of 4, dated 12/05/16, prepared by manufacturer, signed and sealed by Thomas L.
Shelmerdine, P.E.

(Submitted under NOA No. 17-0321.04)

TESTS
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Tensile Test per ASTM E8
5) Forced Entry Resistance Test per FBC, TAS 202-94
along with marked-up drawings and installation diagram of Amarr 9°-2x 8’ 24 ga.
exterior/27 ga. interior steel insulated garage door Model 1000, prepared by American
Test Lab, Inc., Test Report No. ATLNC 1017.01-16, dated 12/13/16 and addendum
letter dated 06/19/17, both signed and sealed by David W. Johnson, P.E.
(Submitted under NOA No. 17-0321.04)

2. Test report on Evaluation of Painted or Coated Specimens Subjected to Corrosive
Environments per ASTM D1654-08 & Salt Spray (Fog) per ASTM B117-11, prepared
by Intertek/ATI, Test Report No. C5463.01-106-18, dated 04/03/13, signed and sealed
by Joseph A. Reed, P.E.

(Submitted under NOA No. 17-0321.04)

CALCULATIONS

1. Anchor calculations prepared by Structural Solutions, P.A., dated 03/02/17, signed and
sealed by Thomas L. Shelmerdine, P.E.
(Submitted under NOA No. 17-0321.04)

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

Manuel Perez,P.E.
Product Control Exa
NOA No.22-0914.06
Expiration Date: November 09,
Approval Date: October 13,2022




Amarr Garage Doors dba Entrematic

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDER PREVIOUS NOA’s (CONTINUED)
E. MATERIAL CERTIFICATIONS
1. UL evaluation report on Surface Burning Characteristics per ASTM E84 an
ANSI/UL723 of Grade 54 and 40 Expandable Polystyrene Resins manufactured by
Flint Hills Resources, Evaluation Report #UL ER7503-01, dated May 22, 2013 and
revised on May 12,2014.
2. UL evaluation report on Potential Heat of Building Materials per NFPA 259-2008 and
on Self-Ignition Temperature per ASTM D1929, Project #4786090680.1.1, File
R7503, dated 12/20/2013, signed by R.K. Laymon.
3. Notice of Acceptance No. 17-0410.01 issued to Covestro, LL.C for their “Makrolon
Polycarbonate Sheets” dated 06/08/17, expiring on 08/27/22.

F. STATEMENTS
1. Statement letter of conformance, complying with FBC 7" Edition (2020) and of no
financial interest, dated August 27,2020, issued by Structural Solutions, PA., signed
and sealed by Thomas L. Shelmerdine, P.E.
(Submitted under NOA No. 20-1015.25)

G. OTHERS
1. Notice of Acceptance No. 17-1010.21, issued to Amarr Garage Doors dba Entrematic
for their Model 1000 Amarr 2432 Insulated Steel Sectional Garage Door up to 9°-2”

Wide with Impact Resistant Windows — L.M.I., approved on 12/21/17 and expiring on
11/09/22.

Manue
Product Control Exami
NOA No.22-0914.06
Expiration Date: November 09;
Approval Date: October 13,2022




Amarr Garage Doors dba Entrematic

(3]

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

NEW EVIDENCE SUBMITTED
DRAWINGS
1. None.

TESTS
1. None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 22-0317.02 issued to Plaskolite, LL.C for their “TUFFAK
Polycarbonate Sheets” dated 04/21/22, expiring on 08/27/27.

STATEMENTS

1. Statement letter of conformance, complying with FBC 7t Edition (2020) and of no
financial interest, dated August23, 2022, issued by Structural Solutions, P.A., signed and
sealed by Thomas L. Shelmerdine, P.E.

OTHERS
1. Notice of Acceptance No. 20-1015.25, issued to Amarr Garage Doors dba Entrematic
for their Model 1000 Amarr 2432 Insulated Steel Sectional Garage Door up to 9°-2”

Wide with Impact Resistant Windows — L.M.I., approved on 01/21/21 and expiring on
11/09/22.

Manuel Perez, P.E.
Product Control Exami
NOA No.22-0914.06
Expiration Date: November 09,
Approval Date: October 13,2022




1) 3" X 20 GA [80KSL} STRLUT AT
TOP OF EVERY SECTION

12 GA GALV.
COMMERCIAL TOP
ROLLER BRACKET

ATTACHED W/4) 14" x 1"
SCREWS PER BRACKET

2" 10 BALL STEEL 716" x

3" 20GA STRUT
ATTACHED AT EACH

END STILE LOCATION
W4} 147 X 1" SCREWS

ADJUSTABLE ROLLER,
CARRIBRS (2) ATTACHED W/ (8)
5/167 x 3/4" BOLT & NUT PER
BRACKET

3" 20GA. STRUT ATTACHED

3" 200A, BTRUT ATTACHED
W/ (2) 14" x 1" SCREWS AT
EACE CENTEE STHLE

14GA, MIN. CENTER
FINGE ATTACHED

W/(5) 14" x 1" SCREWS AT
FACH CENTER STILE WHATHERTIGHT JOINT

WEAR SEAL

9"1’2" LONG ST—E’i Wr"[ (2) 1!4" k3 1ll SCREWS AT___,W——-" "
HURRICANE RGLLERS ] [ K] CH CENTER 3
W 116" RETAIMERS USED e EAl TER STILE SCREWS AT EACH CENTER STTLE
FOR NON THREADED -
SHAFTS TYPICAL CENTER HINGE ) 14 GA. (MIN.) END HINGE
TYPICAL TOP FL{TURES N.T.S. ROLLER CARRIERS ATTACHED
WIS 1 W/ {(5) 144" x 1" HEX HEAD
THERMAL BREAK: SCREWS EACH
- ‘ 27 GAUGE (,015") INTERIOR SKTN
3% 20634, STRITT ATTACEED 24 GAUGE (.021") EXTERIOR SKIN:
W/ ) 14 x 1T SCREWS AT W/ POLY%Z%%%%%(Z)F&? :
EACH END STILE (2) 14GA. bm;fE(Nﬁ vGES POLYSTYRENE INSULATION
ATTACHED W/ (5) 114"
; 3-1/2° U-SHAPED
= I" SCREWS BACH VDO BOTIOM SEAL ™
W/ALUMINUBE RETAINER
g, 3" 10 BALL STEEL 7/16" x
N 7. R -\ N 9-1/2" LONG §TEM
3" 20CA. STRUT ATTACEED HURRICANS ROLLERS
DOOR HEIGHT COMMERCIAL W/ (4) 1/4" 5 1" SCREWS AT W/ 116" RETAINERS USED iogio(‘;’&ﬁ"ffﬁzm
|~ SLDELOCKS EACH END STILE FOR NON THRBADED WAR 16 X 14
‘[F (2PLACES) SHAFTS HEX FEAD SCREWS
‘ TYPICAL END HINGE 3
3 NT.S
PRODUCT APPROVED SECTION A—A (SIDE VIEW)
TYPICAL 24" as compléin‘f with the Florida
SEOTION Building Code N.T.S
NOA-No. 17-0321.04 BOTTOM BRACKET
i 11 GA. (MIN.) ATTACHED
] A G9/2017 WAE) 14X 1"
pproval Date, 11/69/2 P Dy SCREWS REV | DESCRETIO OF REVISONS E |BY
TYPICAL ROLL GRIP i 'y .
PANEL T LIFTHANDLE
g 2" 1 BAT.L STEEL 746"
DOOR WIDTEH 5-12" LONG STEM = AR e, ag
FORRICANE ROLLERS MAX SZE | BT ““ e ot
DOOR INTERIOR ELEVATION PRODUCT REVISED W7 7/16" RETAINERS USZD 02 x 24 | 23 £¢
- as complying with the Florida. FOR NOM THREADED . gg g
N5 Building Code ' 3" 20GA. STRUT ATTACHED SHAXTS DESIGN LOADS| B E ¥ ns
PRODUCT RENEWED W {4} 1/4" x 1" SCREWS AT EE 7 » 5
. . . NOA-No. 20-1015.25 +55.1 PSF | g 7 oL 4 2
as complying with the Florida — EACH END STILE Teis ree | 22 ; ;‘}‘ B gﬁ
Building Code Expiration Date: 11/09/2022 LY - E% g, tES
NOA-No. 22-0914.06 By: £:1 ol F % P ey
irati . - TEST LOADS | §2 % # = 3 K3 » 5
Expiration Date; 11/09/2027 Mi ami/— pade Pro duc,t’Co)ﬂ:rol TYPICAL BOTTOM BRACKET (4 1827 PSF | £2 % fag % STATEGF & ;%
NI.S. -95.8 PSF | &2 % ' $Fyw EE
By : ; nE % o 5
iami 20 WOOD 1 SE & 2=
Miam yéDade Producrt’C;’ntrol 26 Na, 2 OR BETTER. §Y? OR 5FF WOOD JAMB & g ¢ %5’
. g 516" x 1 5/8" LAG SCREW mﬁﬁﬁﬁﬁc{wﬂ 28 FL RN =g
= EX 2 14 =25
| TAME SEAL OPENING WIDTH / (1) PER JAMB BRACKET £8
/ OPTIONAL
| L ARGE MISSILE IMPACT Agary
1/4-20 % 5/8"TRACK, SPLICE P Svare ..ot
BOLT AND NUT ENTREMATIC
‘ s RESISTANT
083" MIN TRACE NTERMEDIATE ROLLER é:alg"glﬁdGSg%{'Tn 5% l S T N MOBEL 100G AMARR 2432
HINGES 14GA HINGE 14GA HURRICANE ROELERS W/
16" RETAINERS TISED S| DRAWNBY  DRD| DAL H/16/% DRAWING MIEER
2" BRACKET MOUNT TO WOOD JAMB DETAIL FOR NON THREADED R e fR] WE 2E/E IBC-100G-185-15~
165 CARRIAGE COTTR lW' 3Z"im‘NS’TR: " SHEET 1 OF 4
T ON-SA LBM, NG, 27304

N.T.S.

ATTACHED Wi(4} 1/4" X 1" HEX
HEAD SCREWS AT BACH END
STILE AND (2) 1/4" X 1" HEX
HEAD SCREWS AT EACH
CENTER STILE

(2) 12GA. (MIN.) TOP FEXTURES
ATTACHED Wi (4) 1/4" x 1" HEX.
HBEAD SCREWS EACH

(1) 3% X 20 GA. (30KSI) STRUT AT
BOTFOM OF EVERY SECTION
ATTACHED WKd) 14" X 17 EEX
HEAD SCREWS -AT EACH END
AND (2) 14" X 1" HEX HEAD



mp045
noa20-1015.25

mp045
noa22-0914.06


TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

ITW BUILDEX 1/4"-14 X 34" 12 (34, OR 3/16" STEEL

SELF-TAPPING SCREWS (SEE BELOW) 178" NOM X 1" LONG 144" LONG TACK WELD
(TEKS) FELLET WELD (Bf0xx SAME SPACENG AS : 2000 PSTMIN, SIMPSON STRONG-TIE 3/8°@
ELECTRODES MIN.) FELET WELD CONCRETE WEDGE-ALL EXPANSION
rrrrrrrry \ ANCEOR WITH 7/8"3 WASHER.
i { 1-3/4"MIN, EMBEDMENT
; R T .
AN | g .1
2-5/8" THICK & =i
5| WALL MIN, =
{1.5 x EMEEDMENT} i
. q
CLIT STYLE REVERSE ANGLE MOUNT SHOWN
BRACKET, CONTINUCUS ARD TAPERED ANGLE
MOUNT AVAILABLE REVERSE ANGLE MOUNT SHOWN 3% MDN. EDGE
BRACKET, CONTINUQUS AND TAFERED T ISTANCE

12 GA. STEEL FRAMING

232 LBS/SCREW ALLOWABLE LOAD - 6" FROM ENDS
AND 10" G.C.

REFER TONOTES! 1, ZAND S

ANGLE MOUNT AVAILABLE

STEEL FEAMING 1254 OB BEITER
1390 LBS.AIN. ALLOWARLE LOAD - 67

FROM ENDS AND 24" G.C.

316" STEEL FRAMING
56 LB5/5CREW ALLOWABLE LOAD - 6" FROM ENDS
ANDI 247 O.C.

REFER TO NOTES: 1, 2 AND 5

WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

A3

2 X 8 VERTICAL JAMB _ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3 LAG SCREWS STARTING 6" FROM ENDS
THEN 187 ©.C. (1 1/2" EWMBEDMENT)

2 ¥ B _VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE
HILTI Kwik BOLT 3/8" X 4" STARTING &” FROM ENDS

THEN 24" 0.C. (2 1/2" EMBEDMENT)

HiLTI SLEEVE ANCHOR 3/B™ X 2-3/4" STARTING 6" FROM ENDS

THEN 16" 0.C. {1 1/4" EMBEDMENT)

TW/RAMSET REDHEAD (TRU-BOLT)} 3/8" ¥ 47 STARTING 8" FROM ENDS

THEN 24" O.C. {2 1/2" £EMBEDMENT)

2 X 6 VERTICA] JAMB ATTACHMENT TO ROLLOW 0-80 BLOCK

SIMFSON 1/4" X 3" TIEN SCREWS STARTING 87 FROM ENDS,

USE PAIRS OF FASTENERS (3" APART)

AT 8" 0.C. (1 1/2" EMBEDMENT)

HLTI 1/4” X 2-3/4" KWIK—~CON LI+ SCREWS STARTING 5" FROM ENOS,

USE PAIRS OF FASTENERS (3" APART) AT 8" D.C. (1 1/4" EMBEDMENT)

2% 6 _VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOGK (2000 PSI GROUT)
HILT! SLEEVE ANCHOR 3/8" X 2—3/4" STARTING 6" FROM ENDS

THEN 20" O.C. (i 1/4” EMBEDMENT)

(OR, USE FASTENERS FOR HOLLOW C—30 BLOCK)

£ AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WOOD JAMBS BY OTHERS

. wooh ’ CONCRETE
4 STRUCTURE STRUCTURE
Z ] ~
2 \
= B 1 1
= =T
——l——L \_zxs JauB |

122" MIN e LR

HOLLOW BLOCK —r

STRUCTURE g?ﬁﬂ’ém BLOCK

L.
' i 1

13427 M L4—‘

BEFER TO NOTES: 1, 2,5,6,7, 8 AND &

CLP STYLE CONTINUOQUS ANGLE MOUNT SHOWIY
BRACKET, REVERSE AND TAPERED ANGLE MOUNT
AVAILABLE

2000 FST CONCRETE OR GREATER

351 IBS/EXPANSION ANCHOR ALLOWABLE LOAD - 8"
FROM ENDE AND 16" 0.C.

REFER TG NOTES: 1,2, 3, 4 AND 5

PRODUCT REVISED NOTES: F——. PRODU{C'T Alf'tl;lz?\élEQd
as complying with the Florida - PROBUC T REVESRE a5 compiying wi e Flerida
Building Code I,ANC.;‘ORSTD BE BVENLY SPACED BETWEEN THE HEADER AND s cnpapyiig with te Florids ﬁgid,:g odge 17-0321.04
NOA-No. 20-1015.25 2, FIRST (BOTTOM) ANCEHOR STARTING AT NO MORE THAN HALF OF gﬁ;&&_ﬁ Gfga 171010, 21 ~No. — .
—— . THE MAXIMUM ON-CENTER, BISTANCE, HIGHEST ANCHOR Ancipinn
Ex{%‘” Dateﬁ' 1/09/2022 INETALLED AT LEAST AS HIGH AS THE DOCR OPENING. iy Approval Datg 11/09/2017
By: 208 3. MIN. EGDE DISTANCE OF 3" R.EQUTRE]Z.I_ . B];
- A 4. UISE WASHERS PROVIDED BY THE ANCE ANUFACTURER. Miami-
M'am(_ Pade Producf °)“r°' 5. SUPPORTING STRUCTURAL FLEMENTS $HALL BE DESIGNED BY A
REGISTERED PROFESSIONAT ENGINEER FOR WIND LOADS IN
ADDITION TO OTHER LOADS.
PRODUCT RENEWED 6. MOST GARAGE DOOR TRACK [S GALVANIZED §TEEL, TUSE ALL REV | DESCRIPTION OF REWSIONS DAE  [BY
gs _fltg_mpltl:lmg with the Florida NECESSARY PRECAUTIONS WHEN WELDING GALYANIZED STREL.
Ng'A_':jg ode 22.0914.06 4, ALL WELDS SHOULD BE PERFORMED HY A CERTIFIED WELDER
____ 4«4&-U914.U0 GRINSPECTED BY A CERTIFIER WELDING INSPECTOR TO = T 43
Expiration Date: 11/09/2027 VERIFY THE INTEGRITY OF THE WELD. NAX SIZE | B8 o ey, =5
£ FILLET WELDS TO HAVE 4 STRAIGHT OR CONVEX FACE oy aa 125 I AW SHE[A;, T, £y
By: 2As) SURFACE. gg 5\15 % S
ACE WELD AME E + - OF
MiamiéDade Produc,t’Cc;ntrol giﬁiﬁm gyﬁgiﬁ%%fﬂ‘ SAME SPACING TO FREVENT DE_SLL)GS% L}.%}DS E T & +* CEN%‘ " ‘é.,ﬁ:.‘
h . o 4 s G
—64.5 PSF ws ¥ =g
-5 . 1G]
: 5% 24
TEST LOADS FERY g%
= ¥ 2>
TRACK CONNECTION TG WOOD JAMB OPTIONS +82.7 PSF ég . 2%
—95,8B FSF | &2 ™ B
FOR LAG SCREWS & BRACKET SPACING SEE PAGE 3 FOR TRACK COMFIGURATION DETAIL g %2 k E;
g 2
EZ bl
LARGE MISSIE WPACT| &3 v
wwE = R £5
ENTREMATIC
ERACKET MOUNT CONTINGOUS ANGLE MOUNT REVERSE. ANGLE MOLXT MODEL 1000 AMARR 2432
516" x 1 5/8% LAG SCREW (1) PER 66 WQOD JAMB SYP OR SPF S7E| DRAW BY  DRD| DAE 1146/ DRAWNG NUMBER
IAMB BRACKET (i-1/2" EMBEDMENT (¥0.2) OR BETTER (T¥E) BC-1009-195-15-
MINIMUM) (TYE.) Bl crxmay mrl mE 1258 - -
ENTREMATIC
65 GARRIAGE. COURT WINSTON-SALEM, NG, 27108 S 2 & 4

SIMPSON STRONG-TIE 3/8"@
SLEEVE-ALL EXPANSION
ANCHOR WITH 7/8"% WASHER.
1.3/4"MIN. BMBEDMENT

2000 PST MIN.
CONCRETE

2-3/8" THICK — -
WALL MIN.
(1.5 x EMBEDMENT} il

3" MIN. EDGE
DISTANCE

CONTINUQUS ANGLE MOUNT SHOWN
BRACEET, CONTINUOUS AND TAPERED ANGLE
MCUNT AVAILABLE

2000 PSI CONCRETE OR GREATER

336 LES/EXPANSION ANCHOR ALLOWABLE LOAD - &
FROM ENDE AND 16" 0.C,

KEFER TO NOTES: 1,2, 3,4 AND 3



mp045
noa20-1015.25

mp045
noa22-0914.06


14 GA. (MIN,) FLAG BRACKET ATTACHED TO
WOOL JamMB

WI3) 3/16 DIA, X 1.5/5" LAG BOLTS AND TG
TRACK WA4) 1/4".20 x 58" TRACK SPLICE

BOLTS AND NUTS ‘
7 = i ‘ . : 055" 6060 EXTRUDED ALUMINTIM
; . ‘ : IMPACT INTERIGR FRAME {14)#8 X 1" PHILLIPS
/ e L 35-1/16" MAX. DLO- ) 375" BITE ON GLASS NEAD SESEMETAL STREWS
. ) USED TO FASTEN THE ATIMINUM
// j x r .- > 1/4" MAKROLON POLYTARBONATE INTERIOR FRAME TO THE
“ 14 GA. SPLICE BRACKET ATTACHED T0O i / MANUFACTURED BY BAYER ALUMINGM EXTERIOR FRAME
WOOD JAMB W/ {1} 5716 DIA_ X §-5/8" LAG .
1T AND TG TRACK W/ ) 14".20 5 5/8* / IR ~
> TRACE SELICE BOLTS AND NUTS ‘ 105787 =0 Sy
MAX. DEQ &
‘éféléé??" ’f'zj‘rsglrsb TO JAMB 8" X 1/8" CONTINDOUS
ATTA | . { X, 055" 6060 EXTRUDED ALUMINITM 115078 HOT MELT S]:'AI.ANT
ATEA JAMD BRAGIET . ‘ = — m— - DMPACT EXTERIOR FRAME . S NURACIURED By AGRTIC
12 QA GALV. STEEL
TAME BRACKETS ' L%Ng PANEL IMPACT GLAZING FASTENER DETAIL * SECTION B-B IMPACT WINDOW DETAIL
T i A abty '
ATTACHED W) 1/4"-20 x 5/8" ) N.TS. ) PRODUCT REVISED
RACESTHIGERGITAIIT PRODUCT RENEWED as complying with the Florida
as complying with the Florida Building Code
TRACK ATTACHMENT CAN BE BRACKET Building Code —No. - .
MOUNT, CONTINUOUS, REVERSE ANGLE > NOA—NS 22.0914.06 PROBUC{ REVISED NOA-No 20-1015.25
MOLRTE. SE ASATLABEE A - OO L comspiylg witk tie Fiorids Expiration Date: 11/09/2022
CONFIGURATIONS CN THIS PAGE) Expiration Date: 11/09/2027 iﬁimg Gatlﬁg ) e 2] By-QW Ao
B ﬁ%![&’é 5 sesgtance No_}| 7-/0J0- < :
ALL TRACK BRACKETS AND TRACK CLIPS i B " )
D SRE ATTACHED TO TRACK WITH (2) . : y 2482 : o %W»JW‘ Miam y/—‘pade ProductControl
¢ RIVETS OR (1) U4%20 BOLT & NUT Miamil‘pade Produc{t"c(;“tr(“ z";ﬁ. (L WJM
l ALL TRACK BRACKETS OR TRACK CLIPS TOP SECTION PRODUCT Al?t]l:: %?‘:’:FD g
B[ A ARETO FOLLOW SPACING AS INDICATED - as complying wi e Flerida
5 Building Cade
NOA-No. 17-0321.04

It

Approval Da 11/09/2017

TRACK CONFIGURATION FOR UP TO 24" TALL DOORS
SEE TABLE 1 ON PACE £

INTERIOR OF GARAGE

S MAX. WIDTH 907 YA @ REY | DESCRETON OF REVISIONS ME |3y
&
R < QPTIONAL GLAZED SECTHON W/AONG PANEL TMPACT WINDOWS ;!::‘__\ E pr
pesigh Loanst f L E b i ] NTS. : MAX SZE |5 N
+252.6 LBS/FT ) 92x 24 |23 £
: SEE NOTE 2 , 88 B
~285.6 LBS/FT X s
-  |pEsicn Loabs| @ & Skl
: +55.1 PSF | £
SPECIFICATION INTERMEIIATE SECTION —645 FSF | L 28
SPECIFIGATIONS AND NOTES L z
1. ALL THE LOAD FROM THE DOCR IS TRANSFERRED TO THE g 5
VERTICAL TRACK, FROM THE TRACK THE LOAD {5 TRANSFERRED TO THE e\fs Wi e TEST LOADS @'_g ez
VERTICAL JAMBS. THE HORIZONTAL JAMB OR HEADER RECEIES NO = M———— . 53 s
PORTION OF THE LOAD TRANSFERRED FROM THE DOOR. : e +B2.7 PSF 122 )
‘3. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: i i ~98.8 PSF oo E2
+252.& LBSfFr & —2958 LES,"F'_I' rd j::,: ﬁg.
3. DOOR AND HARDWARE Wil BE DESIGNED, MANUFACTURED e b ARG MESLE WPACT| £ 2 £6
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. S S | 25 e
4. DOOR SECTIONS SHALL BE 24 GA. {.021) MIN. EXTERIOR SKIN el e Dy : Lo Bl 8
ROLLED FORMED, G30 GALVANIZED W/ POLYESTER TOP COAT A A :
5. DOORS UP TO 24'07 HIGH HAVE (2) 3™ 20GA STRUTS PER SECTION ATs :
6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED A Y ‘
BY A REGISTRED PROFESSIONAL ENGINEER FCR WIND LOADS
INDICATED ON THIS DRAWING N ADDITION TC OTHER LOADINGS. : ...l
7. THIS APPROVAL REQUIRES THE MANUFACTURER TO DO TESTING OF ALL COLS OPTIONAL GLAZED SECTION W/LONG PANEL IMPACT WINDOWS ENTREMATIC
USED 7O FABRICATE DOOR PANELS UNDER THIS NOTICE OF ACCERTANCE. NT.5. ' _
A MINIMUM OF 2 SPECIMENS SHALL BE CUT FROM EACH COIL AND TENSILE :
TESTED AGCORDING TO ASTM E—8 BY A DADE APPROVED LAS SELECTED AND - MODEL 1000 AMARR 2432
BY THE NANUFACTURER.  EVERY 3 MONTHS, 4 TIMES A YEAR, THE goﬁé“@f%%im
S A Q0 5 OFFICE: A COPY OF THE TEST REPC [
THAT THE SPECIMENS WERE SELECTED FROM COILS AT THE MANUFACTURER SE| IRB!  DRD| DRE /16 TRADIS NUMEER
PRODUCTION FACILITIES. AND A NOTARIZED STATEMENT FROM THE MANUFACTURER Bl ey mR| DE 12/508 [BC-1009-195-15-
THAT ONLY COILS WITH YIELD STRENGTH DF 49,000 PSi OR MORE SHALL BE USED- ot B
TO MAKE DOGOR PANELS FOR DADE COUNTY UNDER THIS NOTICE OF ACGEPTANGE. : s CARTIAGE e AT g uc 2 FET S & ¢



mp045
noa20-1015.25

mp045
noa22-0914.06


PRODUCT RENEWED.

BGOR TRACK ATTACHMENT , ' ' o as complying with the Florida
HEIGHT | A [ B [ € [ D | EJF{ 6] 0] 1] J]K[L]IMINIOIPR][Q S 1T UV IWw]- o _ _ Building Code
] NOA-No. 22-0914.06

Q_Y/thon Date: ‘g 1/09/2027

Miamj pade Produc,t’c&\trol

PRODUCT REVISED
as complying with the Florlda
Building Code

NOA-No. 20-1015.25

%wn Date-f 1/09/2022

Mlam{ -PDade Produc,t’Co)-ltrol

FRODBUC £ REVISED

2% complylug with the Floeids
Beding Code

ALL TRACK ATTACHMENTS +/— 2" ALLOWED USING SYP OR SPF NO.2 OR BETTER ONLY

PRODUCT APPROVED
as cnmplgtr;? with the Florida
[

: Buikding
NOA-No. 17-0321.04
é Approval Dats., 11/09/2017
; By
. IVl
REY | DESCRIPTION OF REVISTAS DAE |BY
o u“'..("ik Eg
MAX SIZE  [BH * 5
vax a4 [2F &7 g
B - %E |
! DESIGN LOADS!Z & ':Jb ::*-;E’*Q’”
SELICE TRACKS W (420 oo +55.1 PSF g€ [F . Ta
‘J TRACE SPLICE oL ~84.5 PGF EE 3 ~ 3 ‘: g;
=L 3 y (=353 :
2 (085 M) OR, 753 #/f zj% E 2
3°(12 Ga, MIN.) YERTICAL TRACK SE & . B2 :
. TEST LOADS |58 4 / Iy 24 F
= +82.7 PSF [E2 #iteq v r 25
g |. v = -56.8 PSF 28 ¢ B, ;$ gl |
= E - § jE %ﬁ'ta-nt" " ::‘:I
» o |5
C e - : 3l i £z
2 ) = £l x| LARCE MISSLE WPACT 5 £ . 59
’ E e = Is S RESISTANCE b FL *‘“"zlnﬂt" _{ég
[T
[l Amarg
| -l
AVARABLE TRACK GONFIGURATIONS ’ : ENTREMATIC
KT.S
_ MODEL 1000 AMARR 2432
SEE| DRAW BY  DRD[ DATE 18/ BRAWING SUMBER
Bl cemsr mR| DAE 128506 {BC-1004-195-15~|
ENTREMATIC i
165 CARRIAGE COURT WINSTCR-SAZEM ., 271 ool 4 OF 4 I



mp045
noa20-1015.25

mp045
noa22-0914.06


	ADP4394.tmp
	11805 SW 26 Street, Room 208

	ADPDEB7.tmp
	11805 SW 26 Street, Room 208




